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Chapter 2 Rational Numbers

Process Diagram

 1–4. Sample answers are given.

 1. 

a
b

Use long division to find
the quotient a ÷ b.

Write the rational number
as a fraction      if necessary.

Writing rational numbers
as decimals

as a decimal.Write −5 1
5

= −5.2.So, −5 1
5

Example

If the remainder is 0,
the rational number is a

terminating decimal.

=−5 1
5

− 26
5

26.0
5.2

5
2 5

1 0
−

1 0
0

−

as a decimal.Write 2
15

2
15

= 0.13.So,

Example

If the remainder repeats,
the rational number is a

repeating decimal.

2.000
0. 1 33

15
1 5

50
45

−

−
50
45

5
−

 

 2. Subtracting rational numbers

=− 1
4

−− 3
2

− 1
4

+ 3
2

= − 1
4

+ 6
4

= 5
4

, or 1 1
4

Add the opposite of the rational
number being subtracted.

if the addends have
different signs

Subtract the lesser absolute value
from the greater absolute value.

Write the sum using the sign of
the rational number with the

greater absolute value.

9.03 − 5.41 = 9.03 + (−5.41)
= 3.62

Examples

=−2 5
8

−2 5
8

1 3
8

−1 3
8

− +

= −4

2.58 − (−3.67) = 2.58 + 3.67
= 6.25

Examples

if the addends have
the same sign

Add the absolute values
of the rational numbers.

Write the sum using
the common sign.
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Chapter 2  (continued)

 3. Multiplying rational
numbers

If the factors
have the same sign

If the factors
have different signs

The product is positive. The product is negative.

(––) (––) = (––) (––)
Examples Examples

= —

3
4

2
9

3
4

2
9

= – 1
6

–3.7
×  –2.4

1 48
+ 7 4   

8.88

1

2

1

3

The product is 8.88.

1
2

(–2–) (––)
= —

3
5

1
3

3
5

7
3

= ––, or –1– 7
5

2
5

–2.6
4 5

1
4  

–1.1

1

1

The product is –1.17.

2
3

 4. 

(−    )

Dividing rational
numbers

If the dividend
and divisor have
the same sign

If the dividend
and divisor have
different signs

The quotient is positive. The quotient is negative.

–2.45 ÷ (–0.7) = 3.5

Examples Examples

–6    ÷ (–   ) = –     ÷ (–    )1
4

1
4

1
5

25
4

1
5
5
1

= – 25
4

=  –

=  125
4 , or 31

–2.45 ÷ (0.7) = –3.5
1
5

3
10

2
3

1
5

3
2

=  –

= –  


